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2.Ke1 Gd3 3.Ke2 Ge3+ 4.Kd2 
Ge5 5.Ge4 Gg5 6.Gg4.

№4

1.Cd5 h3 2.Cf4 h2 3.Ch5 h1I 
(G) stalemate.

№5

The progressive movement of the 

white queen is extremely instructive 

– first ‘zigzag’, and then ‘step-wise’.

6.Ic8! Ef8 7.Id7! Ig7. If the 

bishop withdraws, then 8.Iе8+ and 

9.If7+  is decisive, while if 7...If6+ 

- 8 Kxf6 h1I 9.Kg6 Ib1+ 10.d3! 

Ee7 11.Ixe7 Ixd3+ 12.Kxh6 

Ie3+ 13.Ig5+. 8.Ixg7 Exg7 
9.e7 h1I 10.e8I Ef8 11.Ie6 Kh8 
12.Ie5 Kg8 13.Id5 Kh8 14.Id4 
Kg8 15.Ic4 Kh8 16.Ic3 Kg8 
17.Ib3 Kh8 18.Ib2 Kg8 19.Ib7! 
The queen moves onto the 7th rank, 

keeping the b1-square under attack. 

19...Cf5 20.If7 Kh8 21.Ixf8#.  

Lesson 37

№1

33...b3 34.Gd5 (34.a3 Ef6R) 
34...Ef6 35.Ga5 (the capture on a2 

and c4-c3 was threatened) 35...c3 
36.bc Exc3 37.Gxa6 b2 38.Exb2 
Exb2 with a technically won posi-

tion.

№2

19...b5!? 20.a3 Id6 followed by 

Gfc8 and the preparation of b4.

№3

Before advancing his queenside 

pawns, Black improves the placing 

of his pieces: by attacking the e5-

pawn he ties the white pieces to its 

defence, then he centralises his king.

32...Ed8! 33.Ed2 Ec7 34.Ec3 
Kf8 35.Ke1 (e 35.Ke2) 35...
Ke7 36.Ee4 Cdc5 37.Eb4 Kd7 
38.Ec2 Kc6 39.Kd2 Kd5 40.Ke3 
Eb6 (40...Exe5 41.Cxe5 Kxe5P) 

41.Exc5 Exc5+ 42.Ke2 Ed4R 
(the rest is a matter of technique) 

43.b3 Cf4+ 44.Kf1 Exe5 45.bc+ 
bc 46.g3 Ce6 47.Ke2 Ed6 48.a4 a5 
49.Ed1 Ec5 50.Ec2 Ee7 51.Ed1 
Cc5 52.Cd2 Cd3 53.f4 Cc1+ 
54.Kf3 Kd4 55.Cf1 Cd3! (55...

Kd3!? 56.Ce3 Ec5 57.Ec2+ Kd2 

58.Cxc4+ Kxc2 59.Cxa5 Kd3) 
56.Ce3 Cb4 57.Cg4 f6 58.Ke2 
Ed8 59.Ce3 Kc3. White resigned.

Lesson 38

№1

The position favours White, 

since his pawns are more mobile.

18.h3! (18.e5?! c5! 19.ef cdP; 

18.Exf6?! Exf6 19.e5 Exg2) 18...c5 
[18...Cxe4 19.Exe4! (19.hg? Cx-

c3!R) 19...Exe4 20.hg] 19.Exf6 
Cxf6 20.e5, and the position has 

become clear.

№2

21.e5! de (forced, since Black to 

reckon with Cd2-e4, as well as е5-

е6) 22.Cde4 (threatening Cе4-с5) 
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22...If5 23.If2, and there is no 

defence against the threats of Cd6 

or Ib6.

№3

18.e5! Cfe8?! [18...de 19.fe 

Ixe5 20.Cc4 Ih5 (20...Id4? 

21.Gf4 Cg4 22.If1!Q) 21.Ixh5 

Cxh5 22.Cb6 Gd8 23.Eg5 f6 

24.Ee3Y] 19.e6! fe 20.de Exe6 
21.f5!X.

Lesson 39

№1

18...f5! Now White does best 

to play 19.Ia4!, attacking the a7-

pawn and hindering Black’s battle 

for the d-file.

19...a6 20.Ec4 Gad8 21.Exe6+ 
Ixe6 22.Ib3 Ixb3 23.Gxb3. 
Draw

№2

13.a4! with the idea of a minor-

ity attack. For example, 13...Eb7 
14.Gfe1 Gc8 15.Ed3, and Black 

has to take measures against the a4-

a5 breakthrough.

№3

24...b5! 25.c5! (25.Gxd7 Cxd7 

26.cb Exb5 27.Gc1 Cb6 28.Cc3 

Ea6M Adams) 25...b4 26.ab 
Gb8 27.Ed3!? (27.Ka3? Ib7P; 

27.Gxd7 Cxd7P; 27.Cc1 Gxb4 

28.Ic3 Gbd4M Adams) 27...Exd3 
28.Gxd3 Gxb4 29.Gc1 (29.Ghd1? 

Gxd3 30.Gxd3 Cd7 31.Gc3 Gb5 

32.c6 Cb8P) 29...a5!? 30.c6 Gxd3 
31.Ixd3 a4 32.Gc3 ab 33.Ia6T.

№4

With the rook — activity is more 

important than the pawn structure! 

After the approximate 27...Gxb4 

28.Gd8 Ef8 29.e6 fxe6 30.Ce5 

Kg7 31.g3 Ga4 32.Kb3 Gb4 

33.Kc3 Ga4 the two sides’ chances 

are equal.

In the game there followed 27...
cxb4?!  Black’s pawn majority on 

the queenside is an illusion. The 

pawns are easily blockaded, and in 

addition Black’s main forces are di-

verted to their defence.

28.Kb3 Ef8? Mistakes occur in 

pairs, and it would seem that this 

second one is already decisive. By 

trying to free his rook from the de-

fence of the b-pawn, Black removes 

the attack on the e5-pawn and al-

lows White to activate his knight. 

Better was 28...Gc8! 29.Kxb4 Gc2 

30.Gd2 Gxd2 31.Cxd2 Exe5 — 

White’s king is much more active 

that its opponent, but the strong 

bishop should guarantee Black a 

draw. The game could have con-

tinued as follows: 32.Cb3 Kf8 

33.Kb5 Ef6 34.g3 Ke7 35.Ka6 

Ec3 36.Cc1 Ed4 37.f3 Ef2, and 

if anyone is playing for a win, it is 

Black.
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XIIIIIIIIY
9-t-+-vk+0
9z-+-+p+-0
9-+-+-+pz0
9+-+-Z-+-0
9-z-+-+-Z0
9+K+-+N+-0
9P+-+-ZP+0
9+-+R+-+-0
xiiiiiiiiy

29.Gd7 a5. Or 29...Ec5 30.Cd4 

Kf8 31.e6 Exd4 32.Gxd4 fxe6 

33.Gg4 Kf7 34.Gxb4 Gd8 35.Gb7 

Kf6 36.Gxa7 Gd2 37.Ga8!Q. 

30.Cd2 Gc8 31.Ce4 Eg7 32.Gd5 
Ge8 33.f4 f6 34.Cd6 Gd8 35.Gxa5 
fxe5 36.fxe5 Exe5 37.Gxe5 Gxd6 
38.Kxb4Q. The a-pawn cannot be 

stopped.

XIIIIIIIIY
9-+-+-+k+0
9+-+-+-+-0
9-+-t-+pz0
9+-+-T-+-0
9-M-+-+-Z0
9+-+-+-+-0
9P+-+-+P+0
9+-+-+-+-0
xiiiiiiiiy

There followed: 38...Gd2 (38...

Gd4 39.Kb5 Gxh4 40.a4) 39.a4 
Gxg2 40.a5 Ga2 41.Kb5 Kf7 
42.a6 Kf6 43.Ge4 g5 44.Ga4 Gb2 
45.Ka5 Gb8 46.h5!, and White 

soon won.

Lesson 40

№1

Black should transfer his king 

to c8, play Exс2 and after Ixс2 – 

Iа3. The base of the pawn chain – 

the c3-pawn – is then lost.

№2

29.c6! Ec8 (29...bc 30.dc!?) 
30.Cb4 Ke8 (30...b6 31.Ca6 Exa6 

32.ba c Cb5) 31.cb Exb7 32.Cc6±.

№3

By sacrificing his b-pawn Black 

has created serious threats to the white 

king. It should be mentioned that the 

knight on b5 is a headache for White, 

since it is badly placed. But first of 

all the counterplay on the kingside 

should be suppressed, and therefore: 

14...f5! (14...Ea6 15.Cd6 Exd6 

16.ed Ib6 17.Kd2!) 15.If2 (15.ef 

Cxf6P; 15.Kd2 a6 16.Cd6 Exd6 

17.ed Gxb2 18.Gb1 Gxb1 19.Gxb1 

Ia5! c Cf6-e4R; 15.Ie1 Ib6X 

Rustemov) 15...Ia5‚  (15...Ib6!?) 
16.Cd6 Ea6! (c Gb2) 17.Ie1 (17.g4 

Gxb2!) 17...Exd6 18.ed Cf6 19.Ef3 
[19.Ca2 Ib6 20.Cb4 c3! 21.bc (21.

Exa6 Cxb4 22.ab cb+ 23.Kxb2 

Ixa6) 21...Exe2 22.Ixe2 Ce4X  

Rustemov] 19...Ib6. White resigned.

Lesson 41

№1

Yes - 17.c5!, and if now 17...
dc, then 18.Exa6 cb (18...ba 




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19.Exc5) 19.Ec4! with the threat 

of d5-d6.

№2

35.Ch5 Gg8 36.Eh6 Ce8 37. 
Kf2 If8 38.Ed3 (freeing the queen) 
38...Exa4 (38...gh 39.Gf7Q; 38...

Gh8 39.Exg7Q) 39.Ie3 Ed1 
40.Cxg7! Cxg7 41.Exg7Q.

№3

14.c5!? cd (14...h6 15.cd! Cxd6 

16.Ce6 Exe6 17.de±; 14...f4 15.Ef2 

Cxd5 16.ed Ixg5 17.dc bc 18.Ce4 

Id8 19.cd±; 14...dc 15.dc! Ixd1 

16.Gaxd1 cb 17.Ec4+±) 15.ed! e4 
16.cd! Cxd6 (16...Ixd6 17.Cb5±; 

16...Exc3 17.de  Ixe7 18.d6 Ig7 19. 

fe fe 20.Ec4+ Kh8 21.Cxe4 Exa1 

22.Ixa1 Ixa1 23.Gxa1M) 17.Ed4M.

Lesson 42

№1

30.Ie4 deserves attention, then 

g3-g4, f2-f4 with the idea of f4-f5 or 

g4-g5.

№2

13.b4!? The main idea is to play 

а2-а4, b4-b5 and а4-а5. After the 

exchange on c6 an invasion on d5 

is possible. Black must also reckon 

with the creation of an outpost on 

d6 by c4-c5.

№3

As Anand pointed out in his notes 

to this game, 19.f6! should have 

been played, for example: 19...g6 
[19...gf? 20.Ig4+ Kh8 21.Gg3Q; 

19...Cxa4 20.If4 Gd8 (20...

Cc3+ 21.Gxc3! bc 22.Ig5 Gxb2+ 

23.Ka1! Gxa2+ 24.Kxa2Q) 

21.Gg3 Kf8 (21...Cc3+ 22.Ka1) 

22.Gxg7 Cc3+ 23.Ka1 Ke8 

24.Gxh7! Cxd1 (24...Ic5 25.Ig3 

If8 26.bcQ) 25.Ig3Q] 20.If4 
Kh8 21.Cxb6 Gxb6 22.h5±.

Lesson 43
 

№1

34.e5! (otherwise Cd7-e5 with 

compensation for the exchange) 
34...Cxe5 (34...de 35.Cd4) 35.If4 
with active positions for the pieces 

and a material advantage.

№2

After 11.Cf4? Ea4! it is difficult 

for White to bring his queen and 

rook into play. 11.а4 is correct.

№3

At first sight Black’s defences 

are very solid, and his ‘saw’ resists 

the desire to come into contact with 

them. But there is a splendid tacti-

cal solution: 17.d5! Gd8 (17...cd? 

18.Cxd5Q; 17...ed 18.Cxd5 Id6 

19.Cxf6+ Ixf6 20.Ih7#) 18.Gfe1 
(a technical solution to the position 

was also possible: 18.de fe 19.Ce4 g6 

20.Cg3 etc.) 18...Kh8 19.de Gxd1 
20.Gxd1 fe 21.Ce4 g6 22.Cc5 Exc5 
(22...Ic8 23.Cxg6+ Exg6 24.Ixg6 

Exc5 25.Ixh6+ Kg8 26.Ig5+ Q) 
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23.Ixc5 Gg8 24.Ea2 Kg7 (24...

Ef7 25.Id6; 24...Cd5 25.Exd5 

ed 26.Gxd5) 25.Exe6 Gf8 26.Cd7! 
Black resigned.

Lesson 44

№1

13...Ih4 (dangerous is 13...Cd6 

14.e5 Cdxc4 15.Ih5 g6 16.Ih6 

with the threat of Ch5) 14.0-0 Cd6 
and now f7-f5.

№2

1...b5! 2.cb ab 3.Ixb5 Gfb8 
4.Id3 Ca5 5.0-0 Ic6 with a 

blockade of White’s queenside.

№3

After 24.Cd5!± White deprives 

Black of the counterplay associated 

with d6-d5.

Lesson 45

№1

25.e4! Eg6 (after 25...de 

26.Cxe4 Exe4 27.Exe4 Cd5 

28.Gd2 Black has great problems) 
26.f4 f6 27.Eh3 Gcb8 (worse is 27...

Ge8 28.Ee6+ Ef7 29.Exf7+ Kxf7 

30.Cb7) 28.e5, creating a danger-

ous passed pawn.

№2

34.Cd3 Ee8 35.Cf4 (now 

Cf4-e6-d4 is threatened, as well 

as Gс6 followed by Cg6) 35...Kf7 
36.Gxc6! Exc6 37.Gxc6, and af-

ter the knight moves White plays 

38.Eе6+, winning material.

№3

13...Exf3! A strategic solution 

to the position (establishing control 

over c4 and d5) supported tactically 

(by sacrificing the exchange Black 

lures the white queen into a ‘cage’).

14.Ixf3 (14.gf!?) 14...Ixc4 
15.Ixa8 Cc6 16.Ib7 Cd5 17.Ge1 
Gb8 18.Id7 Gd8 19.Ib7 h5 (19...

a6!? c Kg8-f8-e8, Gb8) 20.Ec1 
Ca5 21.Ixa7 Ic6 22.Ia6 Cc4 
23.Gb1 Cc7. White resigned.

Lesson 46

№1

18.Ih3! creates dangerous 

threats on the kingside, and 18...
Gxc3 does not work because of 

19.f3!, for example, 19...h6 20.Exf6 
Exf6 21.Ee4 Ixe4 22.Gxe4 Exe4 
23.Cd7 Ec2 24.Cxf6+ gf 25.Gc1, 
and the white queen is stronger than 

rook, bishop and pawn.

№2

22...b4 loses in view of the com-

bination 23.Ch6+ Kf8 24.Gxg7! 
Kxg7 25.Ig4+ Eg5 26.c4! Ixd4 
27.Ixg5+ Kf8 28.Ig8+ Ke7 
29.Ixf7+ Kd6 30.Ef4+ Ce5 
31.Cg4. 22...g6 was necessary, when 

the position should be assessed in 

Black’s favour.
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№3

13...Ed6 14.Gc1 c5 (Black decides 

to change the c6+d5 pawn pair into 

hanging pawns) 15.Id3 Eb7 16.Gfd1 
Ie7 17.Cd2 (17.Ca4 Ce4 18.Cb6 

Gad8 19.Cxd5? Exd5 20.Ixd5 Cx-

f2!R) 17...Gad8 18.Ca4 d4! 19.Cc4 
(19.ed Ch5X) 19...Ce4  (19...de!?) 
20.ed Cxf2! 21.Kxf2 Ig5 22.d5 [22.

g3 Ee4 23.Cxd6 (23.Ie3 If5+ 

24.Kg1 Ixh3R) 23...Gxd6 24.Ge1 

Gf6+ 25.Kg1 Gf1+!!R Berelovich] 
22...Exd5 23.g3 Exg3+! 24.Ixg3 
Ge2+! 25.Kxe2 Ixg3 26.Ce5 Ig2+ 
27.Ke1 (27.Ke3 Ie4+ 28.Kf2 Gd6 

R) 27...f6 R.

Lesson 47

№1

26.e4! de 27.Gd6 ef (after 27...

Ie8 28.Ixe4 a pawn is lost) 
28.Gxc6 G5xc6 29.Ixf3 Gc1 
30.Gxc1 Gxc1+ 31.Kh2±.

№2

As was pointed out by Botvin-

nik, White should have continued 

28.Exf6 (in the game 28.f4? was 

played) 28...gf 29.f4 Gh5 30.c4 
Exb4 31.Cxd5 Ed6 32.Cxf6 Ghh8 
(32...Gf5 33.Cd5) 33.Ce4, fol-

lowed by the exchange on d8 and the 

advance of the king.

№3

25.Cf4!? Gcd7 26.Gd2 Ef5 
27.Exf6 Exf6 (27...Ee4 28.Exe7 

Exf3 29.Exd8Q) 28.Ccxd5±.

Lesson 48

№1

26...If4! 27.Gc2 (27.Ixf4? 

Cxf4 28.Gec2 Ce2+) 27...Ixd2 
28.Gexd2 Gxc2 29.Gxc2 Cb4 and 
30...Gс8.

№2

19.If5! Cc6. Other continua-

tions are worse: 19...Ixf5 20.Cxf5 

Ec5+ 21.Kh1 Eg6 22.Ca4! win-

ning material; 19...Ic7 20.Ccb5 

Ib8 21.Ce6; 19...Ed6 20.Ccb5 

Eb8 21.Ixd7 Cexd7 (21...Gxd7 

22.Gc1) 22.Cf5 Ce5 23.Gc1.

20.Ixd7 Gxd7 21.Cxc6! bc 
22.Ca4, and 22...c5 is bad in view 

of 23.Exf6 gf 24.g4 (24.Eh3 Gdd8 

25.Gc1) 24...Eg6 25.f4.

№3

35.Cxc5 Ixc5 36.Cxd5! Exd5 
37.Ixc5 bc 38.Exd5.

Lesson 49

№1

21.d5! Cd8 (defending the e6-

pawn) 22.d6 Gc5 23.d7 Ge7 (23...

Gf8 was better) 24.If4 Eg7? (24...

Exf3!?) 25.Ib8 Ixh6 26.Ixd8+ 
Q.

№2

After 15...d4 Black does not 

succeed in developing pressure 

on the c2-pawn. Correct is 15...

If6 16.Ee3 Ixb2 17.Ixd5 Exe3 
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18.Gxe3 b6 19.c4 Cf4 and 20...

Cе6. In this case it is White who has 

to fight for equality.

16.Ed2 If6 17.Ge4, and the 

d4-pawn needs defending.

№3

15.d5! Exd5 16.Cxd5 ed 
[16...Cxd5 17.Gxd5! ed (17...

Ixd5 18.Exe7 Gxe7 19.Ih4Q) 

18.Exh7+ Kxh7 19.Ih4+ Kg8 

20.Exe7 Ixe7 21.Cg5 Ixg5 

22.Ixg5±] 17.Ih4 with a strong 

attack.

№4

23.d5!  Cxe4 (23...Cxd5 

24.Exd5 Exd5 25.Gxd5! Ixd5 

26.Cf6 Exf6 27.Ixf6; 23...exd5 

24.Cxf6 Exf6 25.Ixf6) 24.dxe6 f5 
25.Gxd8 Gxd8 26.Gd1. Black re-

signed.

Lesson 50

№1

18.Cxf7! Gxf7 (18...Kxf7 

19.Ixe6+ Kg6 20.h4) 19.Ixe6 
If8 (19...Ced5 20.Cxd5 Cxd5 

21.Exd5 Exd5 22.Gxc8Q) 

20.Ce4 Gxc1 21.Gxc1 Cfd5 
22.Cd6 Ea8 23.Ge1! g6 24.Cxf7 
Ixf7 25.Ixe7. Black resigned.

№2

20.f5 Cxf5 21.Cxf7! Gxf7 (21...

Cxd4 22.Gxd4! Gxd4 23.Ixe6Q) 

22.Ixe6 Ced6, and here White 

could have won by 23.Ie5!, for ex-

ample: 23...Ixe5 (23...b6 24.Ixa5 

ba 25.Exf7+ Kxf7 26.g4Q) 24.de 

Ce3 25.Gxd6! Gxd6 26.ed Cxf1 

27.d7!Q.

№3

15.Exe6! fe? (15...Gc7!) 
16.Ixe6+ Kh8 17.Ixe7 Exf3 
18.gf Ixd4 19.Cb5 Ixb2 (19...

If4 20.Gxc8 Gxc8 21.Cd6 Ixf3 

22.Cxc8 Ig4+ 23.Kf1 Ih3+ 

24.Ke2 Ixc8 25.Kd2±, Hazai – 

Danielsen, Valby 1994) 20.Gxc8 
Gxc8 21.Cd6 Gb8 22.Cf7+ Kg8 
23.Ie6 Gf8? (23...h5 24.Cg5+ 

Kh8 25.If7 Ib5 26.h4 Ge8 

27.Gxe8+ Ixe8 28.Ixa7 b5 

29.Ic5²) 24.Cd8+ Kh8 25.Ie7. 
Black resigned in view of 25...Kg8 

26.Ce6Q.

№4

By 20.Cxf7!, although 20.Cxd5 

Exd5 21.Ih4 is also good. There 

can follow 20...Kxf7 21.Ce4 Ib6 
(21...Id7 22.Exf6 Exf6 23.Ixh7 

Eg7 24.Cg5 Kf6 25.Gxc8 Exc8 

26.Ih4 Gh8 27.Ig4±) 22.Exf6 
Exf6 (22...Cxf6 23.Cg5 Kg7 

24.Cxe6 Kh8 25.Ih6±) 23.Gxc8 
Exc8 (23...Gxc8 24.Ixh7 Kf8 

25.Exd5 exd5 26.Cxf6Q) 
24.Exd5 exd5 25.Cg5! Exg5 (25...

Kf8 26.Ih6Q) 26.Ixh7 Kf6 
27.Gxe8. Black resigned.




